é}_) @130 mm Panel Tilting Kutu icerigi

Adaptor - With Bellows Product Box Content

ARMENDUS (Pano Egim Modiilii )

TS EN 50085-1
TS EN IEC 61439-1 4x m M6x20
4x O Jé6.4

WARRANTY

1x ’ M5x16

ARMO080.840

Korigu asagi-yukarn her iki yonde gekerek Modailleri gérseldeki gibi siralayiniz.
1 kogultoniz. 2
(Combine the module step by step as shown in
( Press the bellows up and down until it will be the picture)

released)

Uyumlu modiller:

(Compatible

modules) \

ARMO080.310 i
ARMO080.320 3
ARM130.310 h N

[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
‘ ARM130.320
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[

ARM130.400 ——

M6x20 (x4)
J6.4 (x4)

www.armendus.com




3 Baglanti civatalarini gérseldeki gibi konumlandiriniz. 1 Korigu yuvasina geri takiniz.

(Position the bolts as shown in the picture and tighten
them)

(Place the bellows back in its slot)

kontrol ediniz.

iyi bir sizdirmazlik icin kérk baglantlarini
5 gelecek sekilde contayi yerlestiriniz.

E Sari renkli banti ¢ikariniz. Yapigkan yizeyi iceri

(Check the bellows connections for a perfect

(Remove the yellow tape. Place the gasket with
sealing.)

the adhesive surface inside)

www.armendus.com




7 Modili pano Uzerine yerlestiriniz., 8 M6x30 (x4) Civatalar kutu igerigine dahil degildir.

(Assemble the module on the panel)

(M6x30 (x4) Bolts are not included in the box)

M6 x 30 (x4)

M6 x 30 (x4)

Pano Uzerine agilmasi gereken civata baglanti
delikleri ve kablo gegis delik dl¢ileri.

( Bolt connection holes and cable hole dimensions on
the panel if required for assembly )

www.armendus.com




